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1.

Ramanuja does not have the

following views regarding Prama :

(1) Prama is always Savikalpaka.

(2) Knowledge resides in the
knower.

(3) Knowledge is different from
both the conscious being and
the inanimate world.

(4) Knowledge 1is extraneously
luminous.

(5) Question not attempted

The epistemic categories of Nyaya
find a sutra by sutra refutation in
which text :

(1) Madhyamika-Karika

(2) Vaidalya-Sutra

(3) Pramana-varttika

(4) Manameyodaya

(5) Question not attempted

According to which philosophical
school, knowledge is an activity of
the soul and not a quality ?

(1) Bhatt Mimamsaka's

(2) Prabhakar Mimamsaka's
(3) Navva-Nvavika

(4) Jain Philosophy

(5) Question not attempted

God 18 seen as visesa purusa or
param atman in :

(a) Nvaya

(b) Yoga

(e) Advait Vedanta

(d) Mimamsa

Select the correct answer using
codes below :

(1) (a), (), (c)

(2) (a) & (b)

(3) (b) only

(4) (b) & (d)

(5) Question not attempted
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Which of the following school of
Budhism holds the view that “the
blue colour and the consciousness of
the blue colour are identical
because they are never perceived to
exist seperately.”

(1) Madhyamika (2) Yogacara

(3) Sautrantika (4) Vaibhasika

(5) Question not attempted

Consider the following statements

about Samkhya view of pramanya :

(a) Samkhya believes in swatah
pramanya and swatah apramanya.

(b) In Samkhya jnana is a cittavytti,

Select the correct answer choosing

the codes below :

(1) Only (a) is correct.

(2) Only (b) 18 correct.

(3) Both (a) and (b) are correct and
(b) 1s a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) 15 not a correct
explanation of (a)

(5) Question not attempted

According to Jain philosophy what
is the correct sequence of origin of
“MatiGyana" (Perceptual knowledge) ?
(1) Iha, Avagraha, Dharna, Avava
(2) Avagraha, Iha, Avaya, Dharna
(3) Avagraha, Avava, lha, Dharna
(4) Avaya, Avagraha, Tha, Dharna
(5) Question not attempted

Whe  among the following
philosophers, 1s not associated with
epistemological dualism 7

(1) Prabhakara (2) Gautama

(3) Vasubandhu (4) Kapil

(5) Question not attempted
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12,

Which of the following systems
asserts that the wvalidity of
knowledge depends upon success in
practical activity ?

(1) Vedanta and Nyaya

(2) Vedanta and Mimamsa
(3) Jainism and Buddhism
(4) Buddhism and Nvava
(5) Question not attempted

Necessary  supposition of an
unperceived fact to explain some

conflicting phenomena 1s called —
(1) anuplabdhi

(2) arthapatti

(3) upmana

(4) prataksha

(5) Question not attempted

‘Indrivartha-sannikarsotpannam...’
definition of pratyvaksa failed to account
for :

(1) Samanvalaksana pratyaksa

(2) Jnanalaksana pratvaksa

(3) Yogaja pratvaksa

(4) Nirvikalpaka pratyaksa

(5) Question not attempted

The following type of aprama in
Mimamsa is a case of aprama, since it
lacks anadhigatarthagantrttva :

(1) Viparyaya (2) Smrti

(3) Tarka (4) Samsaya

(5) Question not attempted
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15.

Which of the following philosophers
admit that anuplabdhi is a valid
source of knowledge ?

(1) Bhatt and Shankara

(2) Prabhakara and Shankara

(3) Shankara and Kapil

(4) Bhatt and Kanad

(5) Question not attempted

Consider the following statements

and Buddhist view of knowledge :

(a) Buddhist beheves in swa-
prakasavada

(b) Buddhists accept Ksanikavada

Select the correct answer choosing

the codes below :

(1) Only (a) 1s correct.

(2) Only (b} 1s correct

(3) Both (a) and (b) are correct and
(b) 1s a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) is not a correct
explanation of (a).

(5) Question not attempted

Consider the following statements

about Buddhist view of pramana :

(a) Buddhists do not accept
pramana-samplava.

{b) Buddhists maintain a strict
dichotomy between swalaksana
and samanyalaksana.

Select the correct answer choosing

the codes below :

(1) Only (a) 18 correct.

(2) Only (b) 1s correct

(3) Both (a) and (b) are correct and
(b) is a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) 15 not a correct
explanation of (a).

(5) Question not attempted
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16. The meaning of tat-tvam-asi is

17.

18.

19.

known through :

(1) Jahat-laksana

(2) Ajahat-laksana

(3) Jahadajahallaksana
(4) Abhidha

(5) Question not attempted

Match up :
i. Akhvativada A. Ramanuja
ii, Satkhyativada B. Prabhakara

il Vipritakhyativada C. Nyaya
iv. Anvathakhyvativada D. Kumarila
Select the correct option :
i i i v
(MB A D C
2>A B C D
B3 A C D B
4B A C D
(5) Question not attempted

Samkara refutes other khyati
theories in :

(1) Catuh-sitri
(2) Adhvas-bhasya

(3) Juynansa-bhasya
(4) Paribhasa-bhasya
(5) Question not attempted

Who used Alaukika pratyaksa to
explain error ?

(1) Bhatta-s

(2) Prabhakar-s

(3) Naivavika-s

(4) Vedantin-s

(5) Question not attempted
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that both validity and invalidity of
knowledge depend on external
conditions ?

(1) Mimamsa (2) Nyaya

(3) Bauddha (4) Vedanta

(5) Question not attempted

. Bhedagraha is the reason of error in
which theory ?

(1) Akhyati

(2) Anyathakhyati

(3) Viparitakhyati

(4) Satkhyati

(5) Question not attempted

Sabda-pramina is accepted by all,
except :

(1) Yoga (2) Nyaya

(3) Vaisesika (4) Mimamsa
(5) Question not attempted

Which of the following feature is not
included in the features of
‘Pramana’ mentioned by dJayant
Bhatt ?

(1) Self-Luminous (Swaprakasata)
(2) Arthotpannta

(3) Aavaybhicharita

(4) Vayavsayatmakta

(5) Question not attempted

The correct option that explains the

“Abhihitanvayavada” is :

(1) Sentence, conveys meaning
different from words.

(2) The sentence does not provide
knowledge of new meaning but
only gives knowledge of the
meaning of the used words.

(3) Function is the main purpose of
the sentence

(4) Firstly sentence iz known after
that words are known

(5) Question not attempted
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According to Charaviaka philosophy
‘Shabda’ 1s  inauthentic, the
arguments given by Charavaka in
support of this opinion include :

(a) Giving true knowledge 1s not

the natural quality of the
Shahda.

(b) The Shabda 1is based on
inference.

() There is no basis for Judging a
‘Aapta Purusha’ (Trustworthy
Person).

(d) Perception vields knowledge of
transcendental objects.

(1) (a), (b) and (c) are correct

(2) (b), (c) and (d) are correct

(3) (a), (b) and (d) are correct

(4) (a), (b), (¢) and (d) are correct

(5) Question not attempted

The following is inconsistent with
Prabhakar's views on vakyartha :

(1) Sentence is the unit of meaning.
(2) Sentences are organic.
(3) Word in a sentence expresses.

its own as well as the collective
meaning.

(4) The word-meanings are
harmomized when the last word
is uttered out.

(5) Question not attempted

The mutual expectancy of words in
a sentence 18 :

(1) Akanksa

(2) Yogyata

(3) Sannidhi

(4) Tatparya

(5) Question not attempted




28.

29.

30.

31.

frafafis § 2 v gnite 2. T=m
# for wree 9 w5 & oA TEY WU B S

S T g T R 7

(1) 9t (2) ®fe

(3) TETLH (4) TMaw

(5) FwIHE T

=R gA1 Fuete w1 R s F siadd
e ® 7

(1) A= (2) woae

(3) 398 (4) 91=g

(5) 3q=E 3

g & yerfaEr & fawmda A
HAH e AEE R e

(1) g 319 & =9 § 99 g9 TE R |

(2) SR meEiaE AP T2 |

(3) W9 T HH wad FH AW 6
feret # qaeT g R TR AT 2 |

(4) w9 # 2 = b9 & &, o g
Hen-Hew A Ea A |

(5) raifd

e # favw d e s w fEEn
ﬁﬁ&:

(a) THREZ &AM 2 |

(b) TP vz 2 |

(¢) TFRE MeE-Fa 2 |

ot g o1 wam ek B fame 1 =
e

(1) (a) 791 (c) W& 2 |

(2) (b) 7T (c) FEE |

(3) Fad (b) TR |

(4) (a), (b) a1 (c) HE 2 |

(5) G 5

|
|
|
|
|
|

i

|
|
|
|
|
|
|
|
|
|
|
9

28.

29.

30.

31.

Which one of the following
philosophers holds the view that
the connection between words and
objects 1s conventional, being
established by the will of God ?

(1) Shankara  (2) Kapila

(3) Ramanuja  (4) Gautama

(5) Question not attempted

Anuplabdhi 1s reduced into which
pramana by Nyaya ?

(1) Anumana  (2) Pratyaksa
(3) Upamana  (4) Sabda
(5) Question not attempted

Which of the following views about

Prabhakar's ‘Akhaytivada’ is false ?

(1) Ilusion 1= not possible in the
form of unreal knowledge.

(2) What we call illusion
incomplete knowledge.

(3) Ilusion is assuming a mutual
difference between two partial
perceptions and their objects.

(4) Illusion consists of two different
cognitions which have two
dig“::rent objects.

(5) Question not attempted

s

Consider the following statements
about Sphota :

(a) Sphota is a sound
(b) Sphota is eternal word
(¢) Sphota is Sabda-Brahma

Select the correct answer choosing
the codes below :

(1) (a) & (c) are correct.

(2) (b) & (c¢) are correct.

(3) Only (b) is correct.

(4) (a), (b) & (c) are correct.
(5) Question not attempted




32. M AgANEREEYE S SA A e B 32. What types of Savayabhichari

7 i Hetvabhasa has been made by
5 . ‘Gangesh’ ?
(1) BTSSRI, STRTHTC T O | (1) Sadharana Hetvabhisa,
sifermam ge=rE ; Asadharana Hetvabhasa and
(2) FEMRYT  EeA™E ifmmerT f Atisadharana Hetvabhasa
i S | (2) Asadharana Hetvabhasa,
AT O FITHER! BT I Atisadharana Hetvabhasa and
(3) QTIT BT, SHTT] 2T TE U ; Aﬂulfsa_nhag Hetfilll;lisa
mgm' T (3) Sadharana Hetvabha
3 | Asadharana Hetvabhasa and
(4) HET BEME, FTHER] EeATAE Anupsanhari Hetvabhasa
ve wfag Bamm (4) iad_harm;a I-‘IEI_ItvibP:;t}TE_L .
~ nupsanhari Hetvabhasa an
(5) Sl S Assidha Hetvabhasa

i (5) Question not attempted

33. TuHs w3 R 33. The term paramarsa means :

(1) WeEHaT &1 54 (1) Knowledge of paksadharmata

(2) Mt (2) Anumiti

o | e,

Vi) g i qualiﬁzdgwizhﬁfﬁ:ﬁ i

(5) i 724 | (5) Question not attempted

34, HETf<e & wHw 94 & fawg § = a1 F 34. Consider the following statements

1 faram 1 - i about Sautrantika view of pramana :

(a) ST&l FTE % EIC] F A F I O E (a) Sﬂuﬂ‘ﬁﬂﬁkﬂ ﬂnly accept
e s aAR) | e s ol noleds

(b) s & AR @ g | 4 por Saytrantika the Vaibhasika
ﬁmwaﬁmﬂqﬁfﬁmm% position on this cannot be
Hepd] | ! concibated with momentariness.

ﬁﬁ'{ammﬁnﬁﬁmmw } Select the correct answer choosing

i i the codes below :

(1) et ) TR | Oy s cmnes

B ¥ G Y | Ei; g::: E:}} ;cdu:}%:;:e correct and

(3) (a) T (b) THI WET 2N (b). (a) H1 | " (b) is a correct explanation of (a).
é F@R | (4) (a) and (b) are individually

(4) (a) T {h}ﬁﬁﬁ‘é‘fﬁ, ﬁﬁ-ﬁ{b}, (a) I correct but (b) is not a correct
=1 Hel ST 981 HLd | f explanation of (a).

(5) alE = I (5) Question not attempted

o 10 83




35. wafy 6 fem fafz @ =f =1 3=l 35. Being-caused of sound will violate

36.

a37.

38.

BT Heed o T8 T 1 IS B 7
(1) Zr=nfaq
(2) AfaHg
(3) weFEHA
(4) Favaras |

(5) FafE 9w

‘wfg BeanarE < TE TR A e

TR

(1) 9 &q 1 & stfcees wfag & |

(2) == Tt 2q g wanforg Fred foeeht
= gAT & =ifed & 9 |

(3) &t et 2 = wfawed #g foramm 21 |

(4) =& 2q = Ao = fag @1 |

(5) a5

g g ageafa w smaTa =nfe 79
fafa 2 -

(1) ===l fafy

(2) HTHFIAG T

(3) &6

(4) HveTT gfererE

(5) a9

ot 33 sifuea 2;

HETR;

¥ 92 AT B |

FEI-2 % HAAN TH FIHH FIFED £ —
(1) Feet =4t

(2) a1 FreAtah

(3) Ir=T=AfaEh

(4) 370 4 FE FH

(5) FafE v

. . . S i o —— e — — —— S———" —— T i . . L e s Vs e e e e, A i, S i i

36.

37.

38,

which sad-hetu laksana when
establishing the eternity of sound ?
(1) Abadhita

(2) Aviruddha

(3) Paksadharmata

(4) Vipaksasattva

(5) Question not attempted

The sentence that gives the correct
definition of ‘Asiddha’ Hetvabhasa

s

(1) When the existence of the hetu
itself 1s unproved.

(2) The conclusion proved by some
hetu is hampered by any other
pramanas.

(3) Where any hetu has
opposing hetu.

(4) When the existence of the hetu
is self-evident.

(5) Question not attempted

The method of Buddhists for

ascertaining knowledge of Vyapti

based on tadutpatti is :

(1) Paiicakarani vidhi

(2) Samanvalaksana Pratyasatti

(3) Tarka

(4) Simple enumeration

(5) Question not attempted

an

All knowable objects are nameable :
The pot 18 a knowable object;
Therefore the pot is nameable

According to navya-nyaya this
inference is called —

(1) keval anvayi

(2) keval avyatireki

(3) anvayvavyatireki

(4) None of these

(5) Question not attempted




39.

40.

41.

42,

ReamE & fawg d fe w991 w B9 39, Consider the following statements

ENEp
(a) & BT TR dehard & SFE 8 |

(b) 4 HgeEd & =&l & I=e § ufed 7 |

g1

= %52 &1 v i 7 fawes =199

Fifad

(1) e (a) 9E 2 |

(2) Fa (b) T 2 |

(3) (a) @™l (b) €1 €&l & a1 (b), (a)
AE =TT HIAT E |

(4) (a) 74 (b) 2F1 &1 &, A (b), (a)
&1 GE! SATE 78l B |

(5) IrwE T

1 srar Je-= u § geEE E
(1) Iaaat

(2) ar=gefa

(3) 994 Wg

(4) TEE HgrE

(5) FgaMa 99

S 29 % AN Bd &1 Afard wE 2
(1) ey

(2) TEEY

(3) FIAITA

(4) T @ HE A

(5) ATIA 9T
frefafEa 8 5 =9 4 399H FR0a W
s ® 7

(1) JHad 3N AHFTZE

(2) e 3 A

(3) waq 3N FEEARE

(4) 575 A HE TE

(5) 3wl ¥

Ll

|
|

|
|

|

|
!
|
|
f
1
i
|
|
|
|
|
|
!
|
|
|
|
|
}
|
|
|
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41
2

4

40

about hetvabhasa :

(a) All of these are types of formal
fallacies

(b) They occur on violation of sad-
hetu-laksana

Select the correct answer choosing

the codes below :

(1) Only (a) is correct.

(2) Only (b) 18 correct,

(3) Both (a) and (b) are correct and
(b) iz a correct explanation of
(a).

(4) (a) and (b) are individually
correct but (b) 1s not a correct
explanation of (a).

(5) Question not attempted

The underneath acarya is related

to Navva-Nvava school :

(1) Udyotkar

(2) Vacaspati

(3) Jayanta Bhatt

(4) Gadadhara Bhattacarva

(5) Question not attempted

According to Jainism, the ncessary
feature of Hetu 1s —

(1) Trirupey

(2) Panchrupey

(3) Anvathanupapannatva

(4) None of these

(5) Question not attempted

Which among the following

inferences are based on causation ?
(1) Purvavat and Samanytodrsta
(2) Purvavat and Shesvat

(3) Shesvat and Samanyotodrsta
(4) None of these

(5) Question not attempted



44.

45.

afq Ed & #9016 98 954 B, e i =1
T R 7

(1) =TT

(2) HAFMEM

(3) TR

(4) =nfea

(5) HIANE ¥97

FFT-FA iU B, FiE IR
HIA 7, U IGTE R

(1) fag FaEm™

(2) fawg tmmim

(3) =fua garaE

(4) Feafu=m gamE

(5) ARG ¥9A

feeft veh W aea § 31 HEWTH ae
FAfa e, 9 TR w1 HEE R

(1) g&aq

(2) IIaq

(3) AMTIAIGE

(4) T0g

(5) I W

A1g T9F & IEN S g6y H1 HER
2

(1) AT 3T HTTE JrEY

(2) T

(3) Imfafs

(4) ATHTEAE] S

(5) ARG 9%

s . T— . —

|
|
|
|
|
|
|
|
i
|
?
|
|
|
|
|
|
|
|
|
|
|
|
|

4‘31

44,

46.

Sound is eternal because it is audible
involves which hetvabhasa ?

(1) Sadharana

(2) Asadharana

(3) Anupasamhari

(4) Badhita

(5) Question not attempted

The sky-lotus is fragrant because it
has lotusness in it is an instance of :

(1) Asiddha hetvabhasa

(2) Viruddha hetvabhasa

(3) Badhita hetvabhasa

(4) Savyabhicara hetvabhasa
(5) Question not attempted

Inferring a co-existent element
from another is example of the
following type of anumana :

(1) Pirvavat

(2) Sesavat

(3) Samanaytodrsta

(4) Parartha

(5) Question not attempted
According to  Buddhism  the
foundation of Vyapti relation is :
(1) Identity and Causality

(2) Tarka

(3) Upadhinirasa

(4) Samanyalaksana perception
(5) Question not attempted




47.

48.

49,

50.

=1 &1 FH9A Tsa1999 & e AF99 |
TEATR ?
(1) =4

(3) 399

(5) 3wiEa g

(2) JFeTErm
(4) Fmm

(1) &q @ ufesn & #0 1

(2) =nfe e snftms & @Eu W
(3) ¥a9E & EET W

(4) IFAH % T T

(5) AIE 99

A €I H FE HT A B 7
(1) Fvan #H1 FeEy w9y

(2) fv, Towe gufy s sEeEE
=111

(3) At 3R IrEewsTE Ty
(4) Fae dvar
(5) Fgaid w94

o =rfeg <61 e =vE 2 —

(1) 389 & 3 a1 gHI &1 Uh-gal &
|y faa qreed A 2 |

(2) aﬁ:&aayﬁwﬁ;ﬁaaﬁm%ﬂl
frmenfa = Emm 2 |

(3) arwm =nfed 0 &) g3l & o sifaga |
qrEad B 2 | |

(4)$Hﬁﬁrﬁa%g—qﬂm%mﬁwﬁi
qrEd e # | }

(5) HgARE w79 i

F
|
I
|
|
|
|
|
|
F
|
|
|
|
|
|
i
|
|
|
|
|
|
|
I
|
|
|
|
|
|
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47. The statement of vyapti is contained

48.

49,

| 50.

in the following component of
pancavayava :

(1) Hetu (2) Udaharana
(3) Upanaya (4) Nigamana
(5) Question not attempted

The distinctions of kevalanvayi,
kevalavyatireki and
anvayavyatireki is based on :

(1) Order of hetu and pratijna

(2) Nature of vyapti and
vyaptigraha

(3) Nature of avayava

(4) Purpose of anumana

(5) Question not attempted

What 1s the locus or loa of

omniscience in the Yoga Philosophy ?

(1) God and the Samprajnata
Samadhi

(2) God, Samprajnata Samadhi
and Asamprajnata Samadhi

(3) God and Asamprajnata
Samadhi

(4) Only God

() Question not attempted

The correct explanation of Visham

Vyapti' is :

(1) In this, both Hetu and Sadhya
have invariable co-existence
with each other.

(2) The relationship between the
Prameya and Abhidheva is an
example of Visham Vyapti.

(3) In Visham Vwapti there is an
undecided co-existence between
two objects.

(4) In this only the Hetu has an
invariable co-existence with the
Sadhya.

(5) Question not attempted




51. gETH HEEl A HA % famdf=sgai  51. Consider the following statements

a2.

a3.

o e o |
() e e & o o g 2 | I
(b) Tefes AT 314 i THuTed e €, l

HiE g |
1 52 %1 M i TE famed 1 =T
ifed - i
(1) %ae (a) FE 2 | |
(2) e (b) WET R | *
(3) (a) @1 (b) TH1 Hel & a4l (b), (a) H }

HE ATATFEE | |
(4) (a) 79T (b) THI @A ¥ § A 2, |

e (b), (a) = & ==wET 94 & | i
(5) el sed ;
= gt 35 1a % fawa 1 fe sy |
fam it . |
(a) #PrE, 59, fol, R Qe HE | |
(b) 3 & waT s i o & ; e T |

ZEIFA | !
foet e =1 wam v we fawer w1 awE |
£ }
(1) $a (a) FEI R | |
(2) a5 () TR | 1
(3) (a) 7N (b) S HE &1 (b), (a) 1 |

AE AT FATE | |
(4) (a) 71 (b) THI T ¥4 @ &A1 7, |

AR (b), (a) F1 98 =N TE Fan | |
(5) i e !
Foaf 1 it e S £

Hfem FHE 2 1'%@1%&@’!#?!1

TEAE R 7

(1) dwiE-g97  (2) 9W&E-g9F
(3) =F-g3H (4) S9TYH-2IA
(5) Fefa 9

i o —————

53.

about the conception of purusartha

in Vedanta :

(a) Moksa is the supreme Purus
artha in Vedanta-Paribhasa

(b) While all other three purus
artha-s are temporal, Moksa is

permanent

Select the correct answer choosing

the codes below :

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Both (a) and (b) are correct and
(b) is a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) 1s not a correct
explanation of (a).

(5) Question not attempted

Consider the following statements

about Jain conception of Karma :

(a) Asrava, Samvara, Nirjara, each
are of two types.

(b) Jain maintain a two fold
distinction in Karma :
Bhavakarma and Dravyakarma

Select the correct answer choosing

the codes below :

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Both (a) and (b) are correct and
(b) 1 a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) is not a correct
explanation of (a).

(5) Question not attempted

“The ultimate criterion of morality
is that any action is moral if it 1s
prescribed by the Vedas.” This
statement is related to which
philosophy ?

(1) Mimamsa philosophy

(2) Sankhva philosophy

(3) Nyaya philosophy

(4) Vaishesika philosophy

(5) Question not attempted




54.

35.

36.

57.

v et g & v § s s w

femm Fif -

(a) 9T =h! ETOONT Sfreie | 918 A1 2 |

(b) v AT et § e T |

f=1 Tz 1 v ek el fawey #1999

Hifa

(1) ¥ (a) &I 2 |

(2) *ae (b) 9E1 2 |

(3) (a) 7 (b) ST HE E AT (b), (a)
HE AT HATE |

(4) (a) @ (b) T =0 &9 3 ¥ F,
A (b), (a) 1 T =ZrEn 78 & |

(5) FA=IE 9

|
|
1
|
I
|
|
|
F
F
|
|
|
|
i b s, oped @ i faen 4
2, O & & T oft i 7 79 Sfifea £, %
EDIIES [
(1) Wl & 107 % Hre |
(2) 31 =1 HH |
(3) FHI & HA |
(4) FHF FE FEE E | i
(5) IIfea w9 i
|

i

|

|

|

i

|

|

|

|

i

|

!

I

|

|

g it Fa1 & Touy gmdy & sggmon

qTfET 2 & 7

(1) g FrHiiz

(2) =g =i

(3) Haam HrHife

(4) F=Em HrFfe

(5) HFAME 994

Fui-yd F i o ad 98 2

(1) TRHEHH 2 |

(2) a8 FEH-ad {4 =i 2 |

(3) FEAfFF ET A TSI 2 |

(4) 78 o & "ww (9f) F fe
HETEF B |

(5) F=lE v

16

54. Consider the following statements

5.

56.

aT.

about the conception of Rna :
(a) The notion of Rna 1s found in

Rgveda.

(b) Anrnya is an ideal in Indian
ethics.

Select the correct answer choosing

the codes below :

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Both (a) and (b) are correct and
(b) 1s a correct explanation of (a).

(4) (a) and (b) are individually
correct but (b) 1s not a correct
explanation of (a).

(5) Question not attempted

Naiskarmaya is not a feasible

alternative until we are alive even
for a second, as per Gita, because :

(1) Due to the guna of Prakrti

(2) Due to Divine Will

(3) Due to compassion

(4) Because it 15 cowardly not to act
(5) Question not attempted

What is the category to which does
the concept Yogakshema belong ?
(1) The category of Prevas.

(2) The category of Shrevas.

(3) The category of Karmayoga.

(4) The category of Jnanavoga.

(5) Question not attempted

The following is incorrect about

Varna-Dharma :

(1) Itis universal.

(2) It is different to ASrama — Dharma.

(3) Itis ethically binding.

(4) It 1s necessary for sustenance of
society.

(5) Question not attempted




58.

a9.

60.

61.

83

& W1 WIS €9 AR A hicid Hi 2
& aenm f MEEEn e &)
FaAEE B R

(1) =rais gom

(2) &g e

(3) e g5

(4) HiEa g9

(5) i 5w

i @ gfea 78 2 ?

(1) 3 Ffeemea-fafzme

(2) Preet-awaris

(3) dmam-wrEeiar

(4) FeA-Fae

(5) HAHA W9

A7 oo 1 feufa &9 3fn e 99 =
T 1 0 T E TS 7
RufyqaFTHRT  FTHIT A HTHA

(1) am (frr) %9 (3Te)
(2) H9E Bl

(3) ®9F FuE

(4) 3w gm

(5) A 5

Al % AN, i A 98 B I 2 S
A AFIE S YR A G 8 7
(1) FHHari

(2) feaus

(3) WA

(4) oA gfi 3 T

(5) HgaiE 5w

e S § i S S S o A S EESSSE S TEENT R e e e St e S e i S e i ] i i B S i — T ——— T — L — e T s e e s 2

et
~J

58.

89.

60,

61.

Which Indian Philosophy does
logically entail that the state of
liberation (moksha) of soul is an
unconscious state of soul ?

(1) Charvaka Philosophy
(2) Buddhist Philosophy
(3) Vaishesika Philosophy
(4) Samkhya Philosophy
(5) Question not attempted

Which one is incorrectly matched ?
(1) Jain Ehics-Visuddhimaggo

(2) Triratna-Tattvaratha-sutra
(3) Yoga-ksema-Bhagawadgita
(4) Rta-Rgveda

(5) Question not attempted

What is the cause or are the causes
of the Sthiti bandha and Anubhaga,

bandha in Jainism ?

Cause of Cause of
Sthiti bandha Anubhaga
bandha
(1) Yoga Kashava
(Activity) (Passions)
(2) Kashaya Yoga
(3) Kashaya Kashaya
(4) Yoga Yoga

(5) Question not attempted

Who 1s that yogi who is burdenless
of all lokasangraha in the world
according to the Gita ?

(1) Karma vogi

(2) Sthitaprajna

(3) Bhaktayogi

(4) Atma-lina-yogi or Gunatita

(5) Question not attempted




62.

63.

64.

65.

T < {4 g gr 9y g m
&Rl 9 70 HHERE 5 9§ wEE
ey vt e g .

(1) 9.3 79

(2) Tawamm iz

(3) HEE 13

(4) TWCE I

(5) FFHE W

SR A A TE 2 7

(1) wPp e -HEHN

(2) HPaF T~ T 3G
(3) wVp gfe- e

(4) v FHE-fagm

(5) 3aiE gA

31 A § Sfig & wiftonfos W & @
R

(1) MFAH ILT 3 ITAE |

(2) FHA F &F T ITA A |

(3) W H 399 E ITH A |

(4) w54 @ wfmifa g

(5) FF=E 9

A+ famdfraaaad s

(1) S 1 97 HEr=H &1 90 # |
(2) FAFAF A HT AAETE |
(3) LM FAAITAE |

(4) i HoH-THE # |

(5) T ¥

¥

|
!
|
|
|
|
i
l
|

E g e i g i g i A bl A e e e A e i

62. The underneath philosopher from

63.

65.

Rajasthan has suggested important
changes in Law of Karma in his
commentary on Vaisesika philosophy :
(1) P.T. Raju

(2) Biswambhar Pahi

(3) Mukund Lath

(4) Yashdeva Shalya

(5) Question not attempted

Which one is incorrectly paired ?

(1) Samyak — Samskara
Sankalpa

(2) Samyak — Trsnaand
Smriti Upadana

(3) Samyak — Avidva
Drsti

(4) Samyak - Vijjnana
Ajiva

(5) Question not attempted

What is the characteristic of the

Parmamika state of Jiva in

Jainism 7

(1) That which is caused by the rise
of the Karma.

(2) That which is caused by the
annihilation of the Karma.

(3) That which is caused by the
suppression of the Karma.

(4) That which is unconditioned by
Karma.

(5) Question not attempted

The following is not true about Rta :

(1) The way of Rta is the way of
good conduct.

(2) Bta is the prototype of law of
Karma.

(3) Devta-s were born out of Rta.

(4) Rta is context sensitive.

(5) Question not attempted




66. & wiwmel & 3ER IR M H1 IR 66. What is the allocation of the four
FUit 4 HAEA TR ? ; Purusharthas to the four Varnas
o according to the Hindu Dharma
. R | Shastras ?
(1) EL] 74 ok el i Brahman Kshatriva Vaishyva Shudra
(2) a9 g @4 W | (1)Dharma Artha  Kama Moksha
(3) W& qy 7% FM | (2)Dharma Moksha  Artha Kama
(3)Moksha Dharma  Artha Kama
bl e e e ; (4) Moksha Moksha Moksha Moksha
l (5) #3 ™ I (5) Question not attempted
67. AEH S FFER, “Foa RH AL FAE B 7 i 67. What is not the meaning of the term
(1) &4 “Hta” according to Yaska ?
?
Ay | (1) Truth (2) Yajiia
(3) | (3) Fire (4) Water
’ (1) ¥ | (5) Question not attempted
| (5) a9 ;
68. drai &% @ unf F fawg % fin wuEi o | 68, Consider thle fmllﬂwipg statements
S e i ahciut Buddhist conception of Astangika
: A -marg :
() roih (= 7 & fm (a) To accomplish Samyak vaka-
2areiter i Irer ET © | karmanta-ajiva, one has to

(b) Ta-famn & sfiw-wmfa-wa

(c) FTITHAT -8 | qrafud 2 |
fae=t e =1 w5 o famen w1 =9
Hifad

(1) (a) @ (b) FEZ |

(2) (b) @ (c) FEIR |

follow dasa-sila.

(b) Tri-giksa comprises of sila-
samadhi-prajna.

() Anupasyana 18 related to
Samyak-drsti.

Select the correct answer choosing

the codes below :

1 & (b t.
3) ¥ &) TA R (23 (09 & (0 ave oorrect
(4) (a), (b) 74T (c) T & | (3; {hﬂ:& (}bj:&is correct.
Sl 4) (a), (c) are correct.

() b %5] (ﬁtestiun Ifn:l:t-ettg;pted.
69. mATfad e @a fFaa @2 7 | 69. How many characteristics of Dharma
(1) 2 are counted in the Manusmruti ?
4 ok

3) 3
E 4; 1 (3) 3
(5) FFvifed we il

(5) Question not attempted

G L B L S T S T T ST —

R R




70.

71.

72.

73.

T4.

FATEE 47 & S &
(1) wieft

(2) ot arfa=

(3) TEFRSE

(4) faawre

(5) FHE 99

e adi#n % .

(1) wETH-=e-gaied
(2) wEc-wats -Haied
(3) Haiea-FEeH-T=TT
(4) I A FTIEE |

(5) gt WA

i & FET SR 1 AT TS 7
(1) 4
(2) 99
(3) A
(4) &m

(5) WA 99

TS SIS 1 HF 91 92 (IEE) TE@
e 7

(1) Teg-fa

(2) HAeH-Tifad

(3) SH-wfEa

(4) Frar-miad

(5) A 5

i &% v Ea g = ad &
(1) 93

(2) HEgEEaT-Ham

(3) Tacst

(4) =

(5) FIaRa we

- A e = B 4 —— e

S i S— — i T S ——— ——— U T — e — S —— i — i S . e S——)
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70.

71.

72.

73.

4.

Anasakti-Yoga is authored by :
(1) Gandhi

(2) Aurobindo

(3) Radhakrishnan

(4) Vivekananda

(5) Question not attempted

The correct sequence 1s :

(1) Swaraj-Swadeshi-Sarvodaya
(2) Swadeshi-Swaraj-Sarvodaya
(3) Sarvodaya-Swadeshi-Swaraj
(4) The three are simultaneous
(5) Question not attempted

What is the ground of non-violence
according to Gandhiji ?

(1) Love

(2) Truth

(3) Friendship

(4) Forgiveness

(5) Question not attempted

What is not the term given by
(GGandhiji to Satyagraha ?

(1) Truth-force

(2) Soul-force

(3) Love-force

(4) God-force

(5) Question not attempted

The Ekadasa vrata of Gandhi does
not consist of

(1) Abhava

(2) Aspréyata-nivarana

(3) Swade&

(4) Karuna

(5) Question not attempted




75. Fegafeaad g
(1) widi-fa =u=
(2) TurpeE-fe famg @ otw o
(3) ot sfa=gr-anfesft
(4) Taamie-fg wesme & Wiz
(5) JFTIfed ¥¥

76. faEem< % R, HEE 99 | Fafad

77. faasm=< % an g F wfamfes

|
(2) FH-ishal H TR [
(3) FHmhal | Uehel 301 Thdl § 3FHAT E
(4) Uehal el Tegal 3 T i FHEAT l
(5) it uwd |
|
|
|
!
i
|
!
|

78. I HIHYA AELTIA F ATIH H FEF
TR 7
(1) T8 ai-ded %1 iy Fw e |
(2) T8 Tii-2 & Alfeah IHaT & | .
(3) I HHE & SAEWA 9 | favEm I

FATE |
(4)u3ﬁrmai‘f{mr§m£ruzﬁiahi
HEATATS | ;

(5) Wﬁﬁm !
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75.

76.

717.

78.

Following is incorrectly matched :

(1) Gandhi — Hind
Swaraj

(2) Radhakrishnan — The Hindu
Way of Life

(3) Aurobindo — Savitri

(4) Vivekananda - The
Subject as
Freedom

(5) Question not attempted

What is not related to institutional
religion according to Vivekananda ?
(1) Faith

(2) Knowledge

(3) Practice

(4) Realization

(5) Question not attempted

What does Vedanta propound
according to Vivekananda ?

(1) Diversity in Unity

(2) Unity in Diversity

(3) Unity in  Diversity and
Diversity in Unity

(4) Truth of Unity and Fallsity of
Diversity

(5) Question not attempted

What statement does not belong to
the concept of trusteeship 7

(1) It denies class-struggle.

(2) It believes that the class-
division is logical.

(3) It believes in the basic goodness
of a man.

(4) It adopts the method of
teaching and persuasion.

(5) Question not attempted




79.

80.

81.

82.

TR & W H =i 794 A8 8

(1) ueh T sva w3l 9

e THTH B F1A1E |
(2) T Uk GHI a1 Hfaiad FEAE 8 |

(3)mﬁ$wwwww;

e vl e 2

{4)nsﬁwﬁaqﬁa&ﬁﬁa=rﬁmwi

feafa = s 2 |
(5) gufa ¥

T 1 AnTer e T #

(1) Y& 3 afFm F1 Hverm

(2) EiA B AHHIH FAA

(3) fraa = 3imest ue =1 wred fafia e
(4) HHTFETE HT FEE TET

(5) IHERa S

TUFSE & HFER 5 v % e b
AT F QU fawEmaE ? ?

(1) 3w fEa g

(2) =fi e |

(3) Teares Sfiea d

(4) Hreaipfoma faa d

(5) A 94

faeE= & ‘gadm ad’ & famm 1 } 82,

EEELEE
(1) | gt il wETeHe wibla

(3) aTENm o vEe & & e R
(4) 9 % HAEl + IO o wE o
fram mEsaE |

(5) FwIE g

79. In the wview of Radhakrishnan,

religious experience 18 not :

(1) Such an experience where the
distinction of knower and
known disappears.

(2) It is an integral and undivided
experience.

(3) Religious experience is the total
reaction of the whole man to the
whole reality.

(4) Tt creates a disturbed state in
the individual’s life.

(5) Question not attempted

The following was not a

contribution of Radhakrishnan :

(1) Synthesis of East and West

(2) Contemporizing Vedanta

(3) Portraying a model of Idealistic
Way of Life

(4) Vedantic model of Socialism

(5) Question not attempted

In what form of life, the perfection
of Intuition is possible according to
Radhakrishnan ?

(1) In moral life.

(2) In rehigious life.

(3) In contemplative life.

(4) In the life of aesthetic experiences.
(5) Question not attempted

The following is not correct about

Vivekananda's ‘Universal religion :

(1) Positive acceptance of universal
values.

(2) It must have one universal
philosophy or mythology.

(3) The universal religion already
exists.

(4) Universal religion
despite sectarian differences.

(5) Question not attempted

exists

83



83. #snfaih qfaves aasfavwifas 83, The following is not true about

84.

86.

Hﬁqﬁf%

(1) g fa s srgma g Idi 2 |

(2) gt faenfaa gm0 s#famn 4 sE@m 2 |

(3) afs frie o s+t HFH A TR
FH H 59 & 9 98 vH I=Fa A
& |

(4) W71 O WEEAT B |

(5) FHATHA 974

ot i<t =1 ol AP FAR 2

(1) 98 FRE M2 |

(2) T2 FEUR TR |

(3) 9 T, 3R T 3R IEiR T # |
(4) TEA IR G R st R |
(5) Hwd w24

ot Ifaal & 29 § A9=Td] 7 F "
FIFEFER ?

(1) Uehea ST HEOT HEAT W TS T
fadm = |

(2) AHTES &T AT FAAT I Uhed H
fa&m & |

(3) AT &1 =T |

(4) Wehrd AT AT SHI 1 FAE TEA |

(5) FHAE 9

ot FrfaE) & |a 1§ g1 eyl & v Fi wdt
2

(1) faie am

(2) wfemmm

(3) faenfaa

(4) HHE 7=

(5) Al 9

84,

Shri Aurobindo’s account of world :

(1) Creation is like ecstatic dance of
Siva.

(2) Creation is plunge of Spirt into
[gnorance.

(3) If the Absolute creates out of

knowledge instead of ignorance,
it will be a higher world.

(4) Maya is delusion.
(5) Question not attempted

What is the integral yoga of Sri

Aurobindo ?

(1) It is a movement of ascent.

(2) It is a movement of descent.

(3) It 18 both movement of ascent
and movement of descent.

(4) 1t is neither movement of ascent
nor movement of descent.

(5) Question not attempted

What is the function of cosmic Mava

of knowledge in the philosophy of

Sr1 Aurobindo ?

(1) to coneeal unmity and project
diversity

(2) to conceal diversity and project
unity

(3) to create diversity

(4) to retain both unity and diversity

(5) Question not attempted

The common hink between the two
hemispheres, in Shri Aurcbindo's
views is :

(1) The Absolute

(2) Supermind

(3) Consciousness force

(4) Blissful force

(5) Question not attempted

e



87.

88.

89.

ForEZ weEd & fawg § e e W
et T |

(a) FeAF=a =aa1 7 o g B F HEHE | {

(b) FomE= WgEE A Hi I Fedd difeih
weftag WA H 2 |

I
|
|
(¢) o g -3 & g
g1 |
fe 2 1w e wE fawen = wEe |
Hifa - ;
(1) (a) 741 (c) @& 2 | i
(2) (a) 7m (b) TAE | |
(3) Fae (b) FE R | |
(4) (a), (b) 721 (c) A ¥ | I
(5) 3rRa v |
|

|

|

|

i

rASHT F eI Furd I FEUTON T
g2
(1) =ffad= qara

(2) ‘U UsA, UF §ed fagea T maTiE i
quTH

(3) TG, HAFAT 31 WG g 7
AATTIE BT

(4) WTET g2 i e T HEiE Jur
(5) HAdd 57

F
I
|
I
|
i
|
e evim ot Faerra witean =6 fagan & ;
- |
(1) amgafE (famamm) |
(2) Hifems AEs (3w w=E) |
3) T (e }
(4) I (THRTT) |
(5) FERA S !

24

87.

88.

89.

Consider the following statements
about K.C. Bhattacharva :

(a) Transcendental consciousness

is  neither objective nor
subjective

(b) K.C. Bhattacharya has
presented a very original

critique of Kant

(¢) K.C. Bhattacharva belongs to
Neo-Vedanta.

Select the correct answer choosing
the codes below :

(1) (a) & (c) are correct.

(2) (a) & (b) are correct.

(3) Only (b) is correct.

(4) (a), (b) & (¢) are correct.
(5) Question not attempted

What is Ambedkar's concept of
Ideal Society ?

(1) Classless society.

(2) Society based on the principle
“One Man, One Value™.

(3) Society based on the principles
of Liberty. FEgquality and
Fraternity.

(4) Society based on the Teachings
of Lord Buddha.

(5) Question not attempted

Which one of the following is not the
characteristic of the process of
Evolution of Aurobindo's philosophy ?

(1) Widening

(2) Cosmic mind

(3) Hightening

(4) Integration

(5) Question not attempted
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90. . M 1 ‘T & qfFa” Fi s=awn

91.

92.

83

£ BF STE FH H AT HIAT R ? |
(1) 3df 1 s =1 P wgg F Im f

faT | !
(2) Wi ST A g AT A G R |
(3) A I TH, T 3R A=ATH |

24 T& Fifen | ]
(4) TEF FW TR F4l| AT iEn, |
3ot wgfa anfe & wfa wowm |

(5) A w7

|
I
!
., =2 % fawn 8 e waE ® ]
faan s . 1

|

|

I
(a) 9% o wifomar s enife
querE FHTEEE |
(b) FH =REN H, A w:'
sAfergafaan & | .
(© faug o3 v @@ § agw & |
A | |
ﬁwgwmmuﬁﬁmmw!
Hifsd : |
(1) e (a) 71 (c) WA ¥ | |
(2) Fa (b) 791 (c) HHI € | |
(3) e (b) @E 2 | I
(4) (a), (b) 791 (c) TE ¥ | !
(5) T ¥ |

“Mem Mrpa e wl w@ de w5
TN ¢ 9EFI F4] F difas &9 H

D Y Lt ey gy Sy
i Ram T E 7 1
(1) . 3=sHt |
(2) . FoHfd }
(3) wEreT e |
(4) &t wae FgmTeEE |
(5) aiE T I
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90.

91.

92.

Which sentence correctly explains

J. Krishnamurti's concept of
“Freedom from the known” ?
(1) The previously acquired

knowledge should continue to
be enriched.

(2) Physical!t death
from the known.

(3) Man should remain suppressed
by knowledge, tradition and
beliefs.

(4) Dying to everything known i.e.
yvour family, your memory ete.

(5) Question not attempted

is freedom

Consider the following statements

about D.P. Chattopadhyaya :

(a) For him most philosophical
systems of India were atheistic
in fervour.

(b) The original Samkhya in his
interpretation is materialistic

(c) The idea of pure conscious being
Purusa in Samkhya is an
importation from Vedanta

Select the correct answer choosing

the cods below :

(1) Only (a) & (c) are correct.

(2) Only (b) & (c) are correct.

(3) Only (b) is correct.

(4) (a), (b) & (¢) are correct.

(5) Question not attempted

“Vedic morality was making
common people matenally destitute
by luring them with imaginary
heaven and Salvation.” Which
modern Indian philosopher's idea 1s
this ?

(1) Dr. Ambedkar

(2) J. Krishnamurti

(3) Mahatma Gandhi

(4) Devi Prasad Chattopadhyay
(5) Question not attempted



93.

94.

95.

96.

frasrT HF g FE 7
(1) HAEATHATE

(2) HHaEdERE

(3) e forarare

(4) Fremfas gHdaEns
(5) Igata ¥

1. FEEHTH FAFT WA STHAT B H
TR ?

(1) FA=eHamE

(2) AT ST

(3) FEIEE

(4) HfEm

(5) IreiE T

ot 1 & o Ao T R 7

(1) FO=E= HZEE — =7 FITTE
(2) Fomfd -z gy
(3) . A —3fusE s
(4) . FgreEE — A

(5) HgHNa 9

sumggEEA s Wi
4

(1) 3

(2) 4

3) 5

(4) 7

(5) HHA T

1l

S — i ——— o —— - S
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93.

94.

95.

What i1s the
Vivekanada ?

philosophy  of

(1) Spritiualism

(2) Humamsm

(3) Religious Pragmatism
(4) Spiritual Humanism

(5) Question not attempted

What is the cause of Indian Slavery
according to Dr. Ambedkar ?

(1) Idealism

(2) Social Organization

(3) Escapism

(4) Non-Violence

(5) Question not attempted

Which one of the following is
incorrectly paired ?

(1) K.C. — Transcen-
Bhattacharva dental
Idealism
(2) Krishnamurti — Who Brings
the Truth
(3) ML.N. Roy — Indian
Atheism
(4) D.P. — Lokayat
Chattopadhyaya

(5) Question not attempted

K.C. Bhattacharva distinguishes
number of negations.

(1) 3
(2) 4
(3) 5
(4) 7
(5) Question not attempted



97. @i SEuraE S enamﬁariéamﬁ

H1 o FY FEE HE 8 7

(1) =il T Ay -19 W9 FA 2 |
(2) i I ATL-HTY 79 A & |
(3) i F A-AY TERFE E |
(4) i F A-HY I B B |
(5) I I

98. T dun . da 6 U FE &

(1) srefta wrdig 29 & NfesaEe

T
(2) TiefaTe < gEETET
(3) WTEEETE I HETEEA]
(4) foawd 8 w=os
(5) =aid 99

99, wFHSH [ THAH & olEH &
(1) g2 U fe uy
(2) sfvea wrs
(3) wehEd
(4) = FEfa=A
(5) I T

100. 5. FMfE F FHER A5 HI M FNE 7

(1) s Fi @ & gy Fa9+ 5 =
(2) A1 G = faar sq9m 4 S
(3) G@ 1@ & A1 TAAE J =T
(4) @ <@ < fa =aam = s

(5) FefE wod

101. UH. UH. {4 % FEN 9E #9 8
(1) FH-H=e=a-aed
(2) =Ed-AH-9e
(3) FEaFaI-H=-FH
(4) FH-Ueg—TaTal

(5) waftd g7
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97.

98.

100.

101.

Why does according to D.P.

Chattopadhyava 1n the Vedas

originally Devata meant Comrade ?

(1) Because they take food together.

(2) Because they graze animals
together.

(3) Because they go to hunting
together.

(4) Because they sleep together.

(5) Question not attempted

The following is not a conception of

M.N. Roy :

(1) Materialistic Interpretation of
Classical Indian Philosophy

(2) Critique of Gandhism

(3) Critique of Marxism

(4) Swaraj in ldeas

(5) Question not attempted

The following book was authored by
Ambedkar :

(1) Buddha and His Dhamma

(2) Indian Atheism

(3) Lokayvat

(4) New Humanism

(5) Question not attempted

What is the state of blisg according

J. Krishnamurti ?

(1) To live in the present with the
search of truth.

(2) To live in the present without
the search of truth.

(3) To hive in the present with the
search of happiness.

(4) To live in the present without
the search of happiness.

(5) Question not attempted

The following is the correct

sequence according to M.N. Roy :

(1) Knowledge — Freedom — Truth

(2) Freedom — Knowledge — Truth

(3) Freedom — Truth — Knowledge

(4) Knowledge — Truth — Freedom

(5) Question not attempted

v



102. ‘tfRym dis e § A g = =
fase s ferma 2 -
(1) nife
(2) .U, T4
(3) H&E
(4) .4t SgmmEaE
(5) A 9=

103. A3 § w-am= 1 G WKE R
(1) zoaw
(2) grafer
(3) T
(4) FTE

(5) ARG ¥

104. oA T HT FEH hifA0 ;
(L R - fafegmEr
(2) e — SATgaER
(3) TeeiETd — JETeAdrs
(4) meAEE - 3gAAT
(5) FAiE W

105. f=1 Freerare & waifis e B :
(1) =t
(2) 7=
(3) |
(4) THTS
(5) T W

106.fm = afafmm s =ft &
=t

;
|
|
!

AT ST g % i W o |
U1 4 G SHeh! A1 SATEA & T :
|
l
|
i
!

|
1
|
|
|
|
|
|
{
|
|
|
|
|
|
|
|
|
|
|
|

[

(1) .. 7

(2) St IgmTEE
(3) faawrg

(4) FoEZ HZEE
(5) AT 9
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102,

104.

105.

106.

In the ‘Annihilation of Caste'
Ambedkar makes an elaborate
reply to :

(1) Gandhi

(2) M.N. Roy

(3) Nehru

(4) D.P. Chattopadhyaya

(5) Question not attempted

Following is the best example of
instance of para-samanya in Vaisesika :
(1) Dravyattva

(2) Prthivittva

(3) Paramanuttva

(4) Sattatva

(5) Question not attempted

Choose the wrong pair :

(1) Ramanuja — Vishista-
dvaitavada

(2) Nimbarka — Daita-
dvaitavada

(3) Vallabhacharya — Shuddha-
dvaitavada

(4) Madhvacharya — Advaitavada
(5) Question not attempted

The underneath is most distant to
absolutism :

(1) Samkara

(2) Madhyva

(3) Samkhya

(4) Ramanuja

(5) Question not attempted

All but following had leanings
towards Marxist or Socialist vision
or gave its fresh interpretation :

(1) M.N. Roy

(2) D.P. Chattopadhyaya

(3) Vivekananda

(4) K.C. Bhattacharya

(5) Question not attempted



107. Fga d sfaen = fawafmsgaisfagn 107, Consider the following statements
$ifa - about Avidya in Advait :

(a) ?{aﬁmmﬁ HUTE FTHRTE | (a) Tulavidya 1s the cause of jagat

|
|
. i appearance.
(b) FIRATHAIGAEAGR| | ) It ig the real power of Brahma
(c) & HIAT <hT FHHTES R | | in Sarmkara.
=1 e &1 wAm Fiek A4 fashed w1 =g | (¢) Itis synonymous with Maya.
i3 - Select the correct answer choosing
(1) (a) 79T (c) T ¥ | the codes given below :
(1) (a) & (c) are correct
(2) () T (o) FEE | (2) (b) & (c) are correct
(3) e () HAIR | (3) Only (c) is correct
(4) (a), (b) 7T (c) W& Z | ! (4) (a), ()& (c) are correct
(5) TR v | (5) Question not attempted
108, Fag § ‘31 %1 ¢aa1 wHd gu fF@@ ge1 | 108. What comparison has been made in
HFIER? :lhg R{}g\*eda considering “Agni” as a
, eity ?
(1) & (2) R (1) Barber (2) Blacksmith
(E; ﬂaﬂﬁa (4) F+8 (3) Carpenter (4) Potter
( BRG] (5) Question not attempted
109. v o faom & fawg ° Fo9 F299T W | 109, Consider the following statements
fermm #hifsa - | about Vigesa in Vaigesika :
(a) s FgEm == 2 (a) Viéesa is infinite in number.
(b) ferme sz =21 < faee =1 Imam (b) Tt accounts for the particularity
2 of composite objects.
(c) ﬁmmﬁﬁm% | (¢) Visesa is itself qualityless,
= e =1 A w5k wd fawe %1 =9 | Select the correct answer choosing
e the codes below :
(1) (a) T (c) HE & | { (1) (:} i (c) are mrrec:t
(@) (b) 71 () TEE | (2) (b) & (c) i_lI‘E correct
l (3) Only (b) is correct
(8) ¥ L) TR | | (4) (a). (b) & (c) are correct
(4) (a), () T () TEE | | (5) Qu‘eatiﬂn not attempted
(5) A 9H |
130,85 SR — B } 110. E;?:;tphvc;l; ’ be called Jain
1) Frevsar VSICS
{‘1} § } (1) Absolute Pluralism
(2) AT AEEaTR | (2) Theistic Pluralism
(3) AT AT | (3) Relativistic dualism
(4) |MEEE sEEale | (4) Relativistic pluralism
(5) T T | (5) Question not attempted
83 29 a




111.

112,

113.

TR 3R THES oEl 6 FE e

Faguo e T SR TR HEE R 7

(1) FiE %1 51 Fojm s o &1 9
aE |

(2) YiEd % FHER F@ H HAEAE 9E 2
Fafeh T & AR (o 9E 3 |

(3) T T 7 YA & A TAES 5
TR R |

(4) Wit &1 FA AfFAaed 2 Ad®
T & Fe SAfwE 2 |

(5) wfE 9

wea o firen & fawg 1 fae et w famm
i

(a) sHHT 3 B HEA

(b) o 314 ® 31Ed

(c) 391 3G B A A1 Hq 7 HEq

fa g2 %1 wam Fe el faden 1 =wa
$ife

(1) (a) 7T (c) TE |

(2) (b) 7l (c) HEE |

(3) Fae (c) WET B |

(4) (a). (b) 71 (c) F& & |

(5) A 99

HAFAETE | T &

(1) Fsame

(2) afemn < Afawan

(3) FTandan

(4) UHAEATG

(5) T 994

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
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111.

112,

113.

Which of the following statements,
is false in the concept of Brahma of
both Shankara and Ramanuja ?

(1) Shankar's Brahma is Nirguna
and Ramanuja’s Brahma s
Saguna.

According to Shankar there is
Sajativa Bheda in Brahma
whereas according to Ramanuja
there 1s Vijativa Bheda.
Shankara’s Brahma is abstract
whereas Ramanuja’s Brahma 1s

(2)

(3)

concrete,

(4) Shankara's Brahma 18
personalityless whereas
Ramanuja's Brahma 18

complete personality.
(5) Question not attempted

Consider the following statements

about Mithya in Advait :

(a) It means false

(b) It means unreal

(e) It means neither real nor
unreal.

Select the correct answer choosing

the codes below :

(1) (a) & (c) are correct.

(2) (b) & (c) are correct.

(3) Only (c) is correct.

(4) (a), (b) & (c) are correct.

(5) Question not attempted

The underneath is inconsistent
with Anekantavada :

(1) Niksepavada

(2) Ethics of Ahimsa

(3) Bahyarthavada

(4) Monism

(5) Question not attempted
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114.

115.

116.

117.
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(5) E 9

e Ferfadl % AN A (qE) F1
g 04 fea-feg svd wfien fFa 2 2
(a) WTEET (b) F=1f2

(© 72 (d) Ja4
& I H1 TG HA

(1) (a) (b) ¥ (c)
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114.

115.

116.

The analogy of part (anga) and
whole (ansi) to explain the relation
between cita-actia and Brahma 1s

used by :
(1) Madhva (2) Ramanuja
(3) Samkara (4) Hastamalaka

(5) Question not attempted

Consider the following statements

about padartha in Vaisesika :

(a) It must be knowable

(b) It must be nameable

(¢) It must be substratum of
qualities or action or an inherent
cause of composite objects.

Select the correct answer choosing

the codes below :

(1) (a) & (b) are correct.

(2) (b) & (c) are correct.

(3) Only (b) is correct.

(4) (a), (b) & (c) are correct,

(5) Question not attempted

According to Advaita Vedanti,
Avidya (Maya) has been accepted in
which of the following forms ?

(a) Bhavarupa (Positive)

(b) Anadi (Beginingless)

(¢) Jada (Unconscious)

(d) Chetan (Conscious)

Select the correct answer :

(1) (a), (b) and (c)

(2) (b), (c) and (d)

(3) (a), (b) and (d)

(4) (a). (c) and (d)

(5) Question not attempted

7. The bondage of self 1s a real event

in all except :
(1) Ramanuja  (2) Madhva
(3) Samkhya  (4) Nyaya

(5) Question not attempted



118.

119.

120.

121.

wfaen & o & fawa o e a9 =
fpern 7 E
(a) mm%mmmﬁ
R 1
(b) Taamo W= & HFER FTH YA i
Eichd |
(¢) SEH1FIS HHT FE & — I8 TAA 1 |
@ FE 2 | |
ﬁqgwﬁmmaﬂﬁmmml
EAEDl
(1) (a) a9 (c) TE £ |
(2) (b) @1 (c) FAE |
(3) e (c) §E1 2 |
(4) (a), (b) 747 (c) & Z |
(5) IR woA

T 3 e (Sfaren) % =9 3 @ gER
w=Hwn fpu d 7

(1) Fra-fta, yga-a, 9g-f

(2) HEF-1a, qg-Hid, BE-HE

(3) Fg-<19, TE-91d, TE-H1d

(4) Frea-<a, sg-e, wE-dE

(5) FAwIHA

“art =1 3 T .. ﬁma‘q’f’-‘m
AR 7

(1) 17
(3) afwla

(5) FAafE 994

(2) S

(1) F15H

TR % HET A P AR 7

o e e Al T M AR AR T L N NS % e ety e 4w e o e B Y T T T g = e e e =

118.

119.

120.

121.

Consider the following statements

about Avidya's locus :

(a) As per Bhamati prasthana, it
resides in Brahma.

(b) As per Vivarana prasthana it
resides in Jiva.

(¢) It has no locus : this is the first
major objection of Ramanuja.

Seleet the correct answer choosing

the codes below :

(1) (a) & (c) are correct.

(2) (b) & (¢) are correct.

(3) Only (c) 1s correct.

(4) (a), (b) & (c) are correct.

(5) Question not attempted

Which three types of ‘Chita (Soul)

have been accepted by Ramanuja 7

(1) Nityva Jiva, Mukta-Jiva,
Baddha-Jiva

(2) Mukta-Jiva, Baddha-dJiva,
Sthavara-Jiva

(3) Baddha-Jiva, Sthavara-Jiva,
Trasa-Jiva

(4) Nitya Jiva, Baddha-Jiva,
Sthavara-Jiva

(5) Question not attempted
Yato-va-imani-bhutani jayante ...,
is from which Upanisad 7

(1) Mundaka  (2) I8a

(3) Taittiriya  (4) Kathak

() Question not attempted

According to Shankaracharya,
what 1s the characteristic of
‘Reality’ ?

(1) Aathkriyvakaritava

(2) Utpadavyayadhrau-
vyasamyuktam

(3) Trikalaabadhytavam

(4) Safalkrivasamarthya

(5) Question not attempted
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(2) T5% gad IR T g

(3) e A AN GE-H
(4) Terwamd gem 3 radia gae
(5) FFafE 9o

e s A e e E e e e e

125. Fr=fefes ® 9 <9 a1 v w9 3ufweE =0 |

27

(1) 77 B TE & I I H TAE 8 | !

(2) et &1 gy S s EEaT B |

(3) NG F IFFIH IHE IR TALE |

(4) s & gl sEen gfgs R
frdafim 2 |

(5) FwiE 9

]
|
|
|
|
|
|

122,

123.

124.

125.

Which of the following exists as nitya
dravya only in nyaya-Vaisesika 7

(1) Prithivi

(2) Teja

(3) Vayu

(4) Akasa

(5) Question not attempted

Which of the following are

consistent with the nyaya-Vaisesika

view of causation ?

(a) Tantu — Samyoga in Pata is
anvathasiddha.

(b) Karya (effect) is pragabhava —
pratiyogi of itself.

(c) The relation between clay and

pot is that of samyoga.
Select the correct answer using the

codes below :
(1) (a)only (2) (b) only
(3) (b) & (c) (4) (a), (b) & (c)

(5) Question not attempted

Which hymn (Sukta) of Rigveda

confirm Non-dualism ?

(1) Tattvagyan Sukta and
Hiranyagarbha Sukta

(2) Purusha Sukta and Nasadiya
Sukta

(3) Tattvagyan Sukta and
Purusha Sukta

(4) Hiranyagarbha Sukta and
Nasadiva Sukta

(5) Question not attempted

Which one of the following views is

according to Upanishads ?

(1) The soul 18 nothing but a
byvproduct of the body.

(2) The soul can be negated.

(3) There are four progressively
superior levels of  self-
CONSCIOUSNEss.

(4) The Turiyavastha (Transcen-
dental state) of the soul 1s
intellectual and interpretable.

(5) Question not attempted



126. ‘Fwmia’ =1 Fayunon & dged ° freafafaa | 126, Which one of the following is wrong
HAFEETE 2 7 regarding the concept of

‘Tattvamasi’ ?
(1) & 7@ 3 e H o H (1) This 1s the concept of 4

I Z | | Epfnetrahﬂity of Brahma and
B = l.
(2) s 3f 3 g # O E A ' (2) It is a concept of existence of the
] FEIE | same element in both the
knower and the known.
(3) 7 @ 1 FFAql 9 e hl HfHAar (3) This is the concept of infinity of
H FFIAM E | Brahma and Finitude.
(4) The concept of knowledge of the
(4) TAE (F@) % T § AW entire " animate-inanimate
ag%m- LT waor 18 eriv m the §
ST A ¢ knowledge of the ultimate
(5) FAOHA WA essence (Brahma).

(5) Question not attempted

127. 91 99§ S A1 3506 8 7
(1) Fq-#forer-aq-54
(2) welifFra-wifiied aq

127. The following is inconsistent with
Buddhism :
(1) Yat— Ksanikam — tat — sat
(2) Arthakriya — Karittvam — sat

(3) T==-TY g -

- (3) Panca — Skan
(4) Frmenrnfticd & (4) Trikalabadhittvar — sat
(5) HAATIHA T (5) Question not attempted

i — At e g Sl T e % e

128. Both Samkhya Philosophy and Jain
Philosophy believe that :
(1) Unreal substances can come
into existence.
(2) Real substances can be destroyed.
(3) Unreal substances can be

128. a7 29 30 39 23 oMl o 914l & i
(1) 3 zedi 1t Ieafa &1 a1 2 |
(2) T Z=di w1 =T B Hehe # |
(3) 3rad zedi &1 famw i =g 3= &

e e S S RS . § o e 1 S A T P S ¥ 1 P ¢ Ty S S SR S T S o T EE—

q
¢

I B AFdl & | i destlz;n},red and real substances
2 . can be created.

(). S =T 3 mﬁ-ﬁ i (4) Real substances cannot be
Ieafe 74 & Al | i destroyed and um;ehgln substances
Eﬂﬁﬁﬁ ] cannot come into being.

) o | (5) Question not attempted

|
129. ! awiisgader: fFm wa @1 f=m® 7 | 129, Laukiko — margo — anusartavyah is

(1) = | the view of which school ?

@) 3 ; (1) Charavaka (2) Jain

3) gaifeane

@) . 1 (3) Sarvastivada (4) Samkhya

) 5 ¥ 5) ti t att d

) — | (5) Question not attempte

o
g
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130.

131.

132.

133.

134,

The tatasth — laksana of Brahma in
Vedanta 15 :

(1) Janmadyasva — Yatah

(2) Satyam — jnanam — anantam
(3) Sachhidananda

(4) Nirgunattva

(5) Question not attempted

Which one of the following is not
correctly matched ?

(1) Asatkaryavada —Parinamavada
(2) Ajativada — Advait Vedanta

(3) Satkaryavada — Vivartavada
(4) Arambhavada — Nyaya-Vaisesika
(5) Question not attempted

Who are the
Sadasatkaryvada ?
(1) Kumaril's mimamsa sect

(2) Prbhakar's mimamsa sect
(3) Vishisthadvaitavadi Vedanta
(4) Advaitavadi Vedanta

(5) Question not attempted

supporters  of

It is not included in the arguments
given by Sankhya Philosophy in
support of Satkaryvavada :

(1) Upadanagrahnat

(2) Karanbhavat

(3) Saktshya Shakay Karnat

(4) Samanvyat

(5) Question not attempted

The analogy of memory is given by
Shankaracharya in the definition of :

(1) Adhyasa

(2) Brahma

(3) Atman

(4) Jiva

(5) Question not attempted
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135.

136.

137.

138.

That which is reborn in Samkhya is :
(1) Atman

(2) Purusa

(3) Sthiila — arira

(4) Suksma — sarira

(5) Question not attempted

“The liberated soul, having pure
knowledge and free from defects,
becomes like Brahman™ — who are
the supporters of this opinion 7

(1) Ramanuja

(2) Shankaracharya

(3) Maharishi Kapil

(4) Godapadacharva

(5) Question not attempted

T

underscores :

(1) Pure knower aspect of self
(2) Self as prameya

(3) Mystical nature of self

(4) Non-dual relation between You
and That

(5) Question not attempted

What is the relationship between
the components and the composite
whole  according to  Nyaya-
Vaisheshika philosophy ?

(1) Coincidental relationship
(2) Inherence relationship

(3) Non-inherence relationship
(4) Transitive relationship

(5) Question not attempted




139. =A-a9iNs 29 & faw d Feafataa

HyAT 7 famm Fifs

(a) 9T A & HEW ¥ Bl Hh
HAW il AT FAT R |

(b) Sve SiEl & HUHAR FEH I =T
FAR |

(c) AT FWTE | FET ! AT HET 2 |
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(1) (a) 9 (b)
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(3) (c) = (d)

4) ()9 (d)
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140, frefefiga 8 @ 39 @ & W 299 &

STAT A AR R 7

(1) 9 91z AT 1 3a FE 2 |

(2) faeaa aft amfedriEa smen &1
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e 1 ST A |
(5) FAiE 9

139.

140.

Consider the following statements

about Nyaya-Vaisheshika

philosophy :

(a) God creates the world by
transforming himself into the
world.

(b) God creates the world according
to the actions of jiva.

(¢) God creates the world from
Abhava,

(d) God creates the world from pre-
existing atoms, space-time, efc.

Which of the above statements are
correct 7

(1) (a) and (b)
(2) (b)and (d)
(3) (c) and (d)
(4) (a) and (d)
(5) Question not attempted

Which of the following is not correct
according Jain philosophy ?
(1) The word -Jiva refers to the soul.

(2) The fundamental nature of the
soul is eternal and unchanging.

(3) Soul does not possess extension.

(4) Consciousness is the essence of
the soul.

(5) Question not attempted

In Vaisesika, the following is
incorrect about relation ;

(1) The number of samavaya is
plural.

(2) Samyoga is a quality.
{(3) The number of samvaya 1s one.

(4) Paryapti is a relation to account
some facets of number system.

5) Question not attempted
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A 57 R :

(a) 9O

(b) s

(c) gt o TS ®Y § ey Fiai 2 |
e 2 &1 WA 0 gC Hel [Eehed
T H ;

(1) (a), (b) 3 (c)

(2) (a) 3% (b)

(3) (a) FW (c)

(4) (b) 3N (c)

(5) Aqia 994

142,

143.

144.

145.

The knowledge of 16 categories in
Nyaya, most of which are
epistemological-logical, leads to :
(1) Perfect knowledge

(2) Artha

(3) Knowledge of right and wrong
(4) Moksa

(5) Question not attempted

The group of Philosophers who are

also the supporters of atheism is :

(1) Jain, Yoga, Samkhya and Mima
msa

(2) Jain, Samkhya, Buddhist and
Charavaka

(3) Mimamsa, Samkhya, Charavaka
and Nyaya

(4) Charvaka, Yoga, Vaisheshika
and Nyava

(5) Question not attempted

‘Pratyaya’ in Udayan's argument

for existence of God 1s :

(1) Ontological argument

(2) Cosmological argument

(3) Proof from Sruti

(4) Argument from infallibility of
Veda's

(5) Question not attempted

God in Ramanuja is :

(a) Transcendent

(b) Immanent

(¢) Descends in human form in the
world

Select the correct answer using
codes below :

(1) (a), (b) and (¢)

(2) (a) and (b)

(3) (a) and (c)

(4) (b) and (¢)

(5) Question not attempted




146. T 0 i, faqam sifeqd = ey 146. The  relation  between  God,

2. I consciousness and matter In
(1) ¥ (2) e ; P ol
(3) Wi ) JEE-MWE | (3) Abheda
(5) I 5w ; (3) Bhedabheda
| (4) Aprithak-siddin
147, 35ifs 299 % AR FaUif=y &1 HuR l (5) Question not attempted
B 7 | 147. According to Vaisesika philosophy
(1) 3T (2) = | :,111;9 ﬁ:}as:auf hearin{;::! ;s ig::::ded in
(3) Tﬁp{ (4) =fR I (3) earth (4) fire
(5) FgwiE 9 I (5) Question not attempted
148. A strict dichotomy between subject
148, Tawg aun fawdi 4 srafos e eft S99 and object is characteristic of all
' except :
& foram Foa 35 : (1) Advaita Vedanta
(1) g e (2) 9= (2) Samkhya
(3) =E-T9fwE  (4) IuFwe (3) Nyaya-Vaisesika
(5) A 9 (4) Upanisad
. _ (5) Question not attempted
149, 39 9 % ST F TN | 149 A ccording to Vaisheshika philosophy,
AHRAAFEITIER ? which statements are true regarding
(a) =AM Afea Eay 7 | Samsayuga -Sambandha :
(b) A e E | (a) Samyoga is  impermanent

I
|
|
l
i
I
. " | relation
(c) =am o=y & feu 4 Evas 2 | (b) Samyoga is permanent relation
(d) TE = T B i (c) Karma is necessary for
B - Samyoga relation
R IR T : | (d) Samyoga is external relation
(1) (a), (b) 4 (c) | Select ti(x; curaect answer :
(2) (b), (¢) = (d) | (1) (a), (b) and (c)
- i (2) (b), (c) and (d)
(3) (a), ()3 (d) I (3) (a), (© and [d]
(4) (a), ()= (d) | (4) (a), (b) and (d)
i
|
i
|
i
|
|
|
|

(5) Il ¥ (5) Question not attempted
150. THHATEH % Syl sumon s e § | 150. What  is wrong  regarding
e A R Ramanujacharva's concept of God ?

(1) God and Brahma are different.

(2) God and Brahma are
inseparable.

(3) God 1s the inner soul of the
universe,

(4) There 18 perfection of

(1) S amsm =g
(2) ST S Aw U= R |
(3) Svar fawa &1 st AT R |
(4) Sy & =afaaeg 1 poiAT R |
personality in God.

(5) I wE
(5) Question not attempted
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